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QUESTION 1

What should you consider about concurrent CIFS connections when designing a Hitachi NAS Platform two-node cluster
solution? 

A. The concurrent CIFS connection limits per node are added together and are supported on both nodes. 

B. The concurrent CIFS connection limits on each node are divided in half when clustered. 

C. The limits are per node and the surviving node can only support 1/2 the number that the cluster supports. 

D. The surviving node in a cluster can support twice the single node\\'s connection limit. 

Correct Answer: C 

 

 

QUESTION 2

A customer is planning to implement active-active SyncDR with a Hitachi NAS Platform across two sites. What is the
maximum supported distance? 

A. 10 km 

B. 25 km 

C. 62 km 

D. 100 km 

Correct Answer: D 

 

 

QUESTION 3

Your customer wants to maintain clustering failover capabilities during an SMU software upgrade procedure What
should you do? 

A. Put the cluster into "maintenance mode" while the SMU is upgraded. 

B. Before upgrading the SMU, move the quorum to another SMU. 

C. First upgrade the nodes one at a time followed by the SMU. 

D. Put the SMU into "maintenance mode" while the SMU is upgraded. 

Correct Answer: B 
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QUESTION 4

A customer is using CVL on their Hitachi NAS platform. When a migrated file is accessed, how does a tier of storage
serve a file to a client? 

A. Only the portion of the file requested by the client is recalled from the primary tier of storage 

B. The entire file requested by the client is recalled to the primary tier of storage. 

C. The file requested by the client is read directly from the second tier of storage. 

D. The file requested by the client is recalled from the snapshot area of the file system. 

Correct Answer: C 

 

 

QUESTION 5

Which two statements describe file system checkpoints? (Choose two.) 

A. The default number of checkpoints for a WFS-1 file system is 128. 

B. To restore a file system to a previous checkpoint, use the "fs-checkpoint-select" command. 

C. The maximum number of checkpoints for a WFS-2 file system is 2048. 

D. When restoring a file system using a checkpoint, snapshots taken after that checkpoint are lost 

Correct Answer: BD 
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